1. Rozwiaz uktady réwnan przy pomocy wzoréow Cramera:

_ _ z+2y+z=1
a) { TT2y=3 ) 2wy =3 o). { 2w+ 2+ 4z =2
20 —y =1 —4xr—2y=1
z+y=0
r+y+z=3 —x—2yt+z=4 $;gz++2§t:_21
d).{ z+2y+2:=4 ). y+z=1 4.¢ Y -
2 —y+2=0 —2x+2z=2 r—2y+2t=-1
yra= - THy+z2+t=0
2. Rozwiaz uklady réwnan:
a). 2 +y =3 b). —6z+4y =3 o). 2c+3y+z2=1
—dr —2y=1 3r—2y=1 dxr 4+ 2y =2
dx+2y+t=1 r—y+2z—t=1 xi_;gf;
d). ¢ de—y+2z2—-t=2 e). ¢ 3x+2y+z2=2 f). 4 B
r+2z24+1t=1 —r+y—2z+t=-1 #+2i=-1
N 4 N —y—32z—2t=-1
3. Rozwiaz uktady réwnan z parametrem a:
ar+y+z=1 a’r+2z=1 ar+y+z=2
a). 8 z+ay+z=1 b). ¢ ay+z=2 c). S z+y+z=1
rT+y+z=3 r+y+z=-1 rT+y+az=4



